+
K2

=

-

|-

+

#
K2

RE-H1X DRLO 2R |RUE| @& | B&h | AR BiY=E ME R
FRRE8 FEFDI—R JANT—R BEIvT - SuTEH 28k iEE . Xx—h~uat| L 0 d K k2 B W | SREM| Type
Eik - 6H IBJIS2f mm mm mm mm mm
T-H-HT-M6X0.75-1 256-0817 4550414031184 | TRUSCO /\YRHwT 4% HSS-E M6XO0.75 Ol
T-H-HT-M6X0.75-2 256-0812 | 4550414031191 | TRUSCO /N\YR&wT @ HSS-E MEX0.75 1 62 20 6 45 7 3 5 HSS-E A
T-H-HT-M6X0.75-3 256-0824 4550414031207 | TRUSCO /\YRHwT £ HSS-E M6EXO75 1.5
T-H-HT-M6X0.5-1 256-0815 4550414031153 | TRUSCO /\YRHwvT % HSS-E M6X05 Ol
T-H-HT-M6X0.5-2 256-0818 4550414031160 | TRUSCO /\YRHwT th HSS-E M6X05 1] 55 15 6 45 7 3 51 HSS-E A
T-H-HT-M6X0.5-3 255-9332 4550414031177 | TRUSCO /\YRHwvT E HSS-E M6X05 1.5
T-H-HT-M8X1.0-1 256-0829 4550414031214 | TRUSCO /\YRHwT 4% HSS-E M8X1.0 Ol
T-H-HT-M8X1.0-2 256-0826 | 4550414031221 | TRUSCO N\Y K& wT @ HSS-E M8X1.0 1 70 30 6.2 5 8 4 5 HSS-E C
T-H-HT-M8X1.0-3 256-0827 4550414031238 | TRUSCO /\YREHwT £ HSS-E M8X10 1.5
T-H-HT-M10X1.25-1 256-0849 4550414031276 | TRUSCO /\YRHwvT % HSS-E M10X125 Ol
T-H-HT-M10X1.25-2 256-0843 | 4550414031283 | TRUSCO /N\YRE&HwT © HSS-E M10X1.25 1 75 32 7 55 8 4 5L HSS-E C
T-H-HT-M10X1.25-3 256-0855 4550414031290 | TRUSCO /\YRHwvT E HSS-E M10X125 1.5
T-H-HT-M10X1.0-1 256-0854 4550414031245 | TRUSCO /\YRHwT %% HSS-E M10X1.0 Ol
T-H-HT-M10X1.0-2 256-0840 | 4550414031252 | TRUSCO /\YR&wT @ HSS-E M10X1.0 1 70 30 7 55 8 4 5 HSS-E C
T-H-HT-M10X1.0-3 256-0846 4550414031269 | TRUSCO /\YRHwT £ HSS-E M10X10 1.5
T-H-HT-M12X1.5-1 256-0839 4550414031368 | TRUSCO /\YRHwvT 4% HSS-E M12X15 Ol
T-H-HT-M12X1.5-2 256-0848 | 4550414031375 | TRUSCO N\YRE&wT @ HSS-E M12X15 1 82 38 85 65 9 4 5L HSS-E C
T-H-HT-M12X1.5-3 256-0853 4550414031382 | TRUSCO /\YRHwT E HSS-E M12X15 1.5
T-H-HT-M12X1.25-1 256-0834 4550414031337 | TRUSCO /\YRHwT 4% HSS-E M12X125 Ol
T-H-HT-M12X1.25-2 256-0832 | 4550414031344 | TRUSCO /N\YRE&wT @ HSS-E M12X125 1 80 38 85 65 9 4 5 HSS-E C
T-H-HT-M12X1.25-3 256-0841 4550414031351 | TRUSCO /\YRHwT £ HSS-E M12X125 1.5
T-H-HT-M12X1.0-1 256-0838 4550414031306 | TRUSCO /N\YRHwvT % HSS-E M12X1.0 Ol
T-H-HT-M12X1.0-2 256-0831 4550414031313 | TRUSCO /\YRHwT th HSS-E M12X10 1] 70 30 85 65 9 4 51 HSS-E C
T-H-HT-M12X1.0-3 256-0851 4550414031320 | TRUSCO /\YRHwvT E HSS-E M12X10 15U
tEsB ] 88 NYRYyIHBENSHvT | BE

2021/7/6

FSRIPURINSH

M6~M12

T-H-HT YU-X




